Quiz 8 – Mixed Unit 5-7
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‘The volume of a spherical hot ir balloon expands as the air inside the balloon is heated. Th radius of the balloon, in feet,is modeled by a twice-differentiable function r of ime t, where t is measured in minutes.
For o<t<12, the graph of is concave down. The table above gives selected values of the rate of change, '(t), of the radius of the balloon over the time interval o< t< 12. The radius of a balloon is 3o feet when t is
equaltos.

Usea Riemann sum with the five sub-intervals indicated by the data in the table to approximate the area of r(t) from o to 12.

Right Reimann Sum Left Reimann Sum
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Explain the meaning of this integral.
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Consider the differential equation 4 7 (3 ~6x). Let y

& £(x) be the particular solution to the
differential equation that passes through (1,0).

(a) Write an equation for the line tangent 10 the graph of / at the point (1,0). Use the tangent line to
approximate /(1.

(b) Find y = f(x), the particular solution to the differential equation that passes through (1, 0).
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